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2019 (1) (E1)
L. Ais B’'s sister. C is B's mother. D is
:} C’s father, E is D’s mother, then how is
A Arclated toD ? '
(A) Daughter
Granddaughter
£ (C) Grandmother
(D) Grandfather

2. What is PSLV stands for, \}!hich is one of
the/satellite launching vehirilc of ISRO ?
Payload of Satellite Launch Vehicle
(B) Polar Surface object Launch Vehicle

(C) Polar Satellite Launch Vehicle
(D) None of the above

I
3. If A=(:] J. where neN then A" is

A) (I 0] (B) (1 0]
1 n i =)

I (1 0)
ALY e
01 (n 1
4. Manufacturing unit of Hero Honda
Motorcycle is located in which district of
_Haryana? i
(A) Palwal

Faridabad

(D) Rewari

5. In Python comments start with
symbol. -
L (A)S (B)
€ * (DY #
6. The number of Municipal Corporation in
ana Wwis
i ®) 11
) (D) 9
C) 8

|
H

V!

" WAy
1. ABHFE?, CBATEID CH MY

E,Daﬁnf%,?hA,Dﬁ%&aaﬁa%?
o 32 B
(B) gt
(Wi
’tD)"EﬁT\}‘ ) , {__.I .';' ’ I

2. PSLV 1 1 el &, Sl 6 ISRO % SITE

V&I A B 7
(A) Payload of Satellite Launch Vehicle

(B) Polar Surface object Launch Vehicle
(C) Polar Satellite Launch Vehicle

(D) I9Ud § & IS Al

W

] ZlﬁA-*( IJTﬂﬁTneN,?ﬁA" ?

1
01
1 0 1 0
Wi @62
Il n 1 0
©) (0 1) D) (n 1)
4. P A A BT A
AR ?

(A) TEEE
(B) o
(C) WIEEE
(D) EEl
5, A, we___ esemgEdm
(A) $ (B) &
© * D) #
6. i i oA I E 7
(A) 10 B) 11
©) 8 (D) 9
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'
i |

= An ancient temple Bhadrakalj is «; .
' akali 5
v the district of 1 situated in

(X Rewari

(C) Mewat

(B) Ambala
(D) Kurukshetra

In .wljich sorting algorithm, every adjacent
- pair 1s compared and swapped if they. are
not in the right order ?

(A) Bubble Sort (B) Linear Sort
/. (C) Selection Sort (D) Insertion Sort

D. Which of the following Environmental
organization has launched the “clean seas”
~ campaign ?
(A) Ocean conservancy
UN Environment
(C) Sea Web
(D) Blue ventures

10. First meter gauge commercial train ran on

which route ?

4K) Delhi — Rohatak
(B) Kurukshetra - Jeend

(C) Delhi — Rewari |
(D) Delhi — Panipat

11. The city was founded by Firoz Shah Tughlaq
(A) Biwani _ Hisar
(C) Gurugram - (D) Panipat

12. Valucof(ﬁxfikf)«-(px})x}+(ﬁxi)xE=.
(A) 3P B0 P
©) 4p (D) -2p

13. Inacertain language, ‘w{:s_bggmlx.
is written as hgl_s_cs_. are brightly
lit' as ‘kado wla ari 63 _and ‘light comes
from sun’ as ‘dwril_b}m’, what code-

word : « *and ‘b .Uhl"q
rds are written for ‘syn’ and "brightiy. =

‘9«)’ lo, ba (B) ba,lo

(C) ba, sul (D) sul,lo

bw’ﬁ‘j'/’ bo”

10.

11.

12.

13.

512019 (1) (E1)
U, g Hiet e o ot # flm R ¢
(A) W | (B) 3f=mEn
()| Famd (D) FE&
Rre Sroftercor e i, YoF 3= g
H afi argeTaga @ Sl @ afe 3 =
T g d (B) e v&n
(A) FRIT THFR
(C) | g WA (D) | v
P @ R wafaro FE 4 AT
gz’ v g R @ 7
(A) 3T Faad!
(B) . TeHHAE
(C) s
(D) == g
o et e ST o el d FE
=t ?
(A) g - Teas |
(B) Fo&H - g
<© - el
(D) fegt - ariua
R TITe grreren & @i o T et
(A) Trarh (B) f&am
(C) eI (D) YHE
(ﬁx‘i)x“;+(px‘j)x'j+(ﬁxi\()xi
F AR ?
(A) 3P (B) ©
(C) 4p (D) -2P

w T 9 # ‘sun shines brightly’ &l
‘ba lo sul’ &9 | ferar v %, ‘houses are
brightly lit’ @ ‘kado ula ari ba’ % &4 H feran
ST & IR ‘light comes from sun’ = ‘dopi
kup lonro’ %9 ferar < 8, T HE TR
‘sun’ 37 ‘brightly’ F fou e e ® 2

(A) lo, ba (B) ba,lo

(C) ba, sul (D) sul,lo
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( %;VJ\:.——"? SW . ". I
14, Pointing towards a girl in the picture, Sarita | 14. mzﬂ'{é %m—'pﬁiﬁl 3T 3R A §U,

said “She is the mother of Neha, whose
father, is my son™. How is Saﬂlﬂ related to

the girl in the picture ? 1‘131
(A) Mother (B) Noil " i
(C) Aunt (D .0130 these

\
=
15. Chandra X Ray observatory, 1S a flagship-
class space telcscope of which of the
following space agency ?
(A) NASA 1
(B) Roscosmos !
ISRO
(D) None of the above

16. Which of the following satellite launch
vehicle (Rockct) of ISRO nick named as

Bal
GSLV Mk III
) Scram Jet Engine - TD

(C) RLV-TD
(D) None of the above

' In which year did Columbus reached the

Island of West Indies ?
(A) 1520 ). 1556
©) 1492 (D) 1498

18, Structure of Ni(CO), is
Tetrahedral
(B) Trigonal planar
. (C) Square planar

(D) Trigonal pyramidal
19. The Ampere-
by

Maxwells equation is given
W) § 4<%
dt
| ®) $Bg= TR dog
! dt
€ $rar-Q
S
.}D) ¢ BdA=0

15.

16.

17.

18.

19.

(WL PRI RALARE)

A1 a8 Ter i A 3, Forws R g

aﬁtﬁaﬁﬁ%ﬁﬂaﬁa%mﬁ
(A) W (B) == W
€) == (D) FH AT
931 e { Qusmen, Frafafaa § 3
SfRer Tt <t T TemTTag Al A gy
(A) NASA

(B) Roscosmos

(C) ISRO

(D) ITTd H & i3 Tl
ISRo%mmm(ﬁm)ﬁﬁﬁ
I Sgae 8 7

(A) GSLV Mk I1I

(B) AT -TD

(C) RLV-TD

(D) IR | A S T _
g ad wicem IS v 7 gga
(A) 1520 (B) 1556

(C) 1492 (D) 1498
Ni(CO), o He1 ?

(A)

(B) qudd

(C) HHAA

(D) ﬁ'{:ﬁﬂﬂﬁ'ﬂm

- e e e g
27

_ —dog
(A) $Ed=—F
bl ddg
(B) § Bdl=Haic +Ho 03
C) ¢ EdA=—
© ¢ .
(D) §BdA=0

A
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20.~ What is the mechanical energy E of the
| ¥ I'i'qg:ar oscillator ? Given initially, the
. Block’s position is x = 11 cm, speed is

B & v = 0 and spring constanyk = 65 Nm-'.
! (A) 0791 ) 0.11]
. © 0.66J;- (D) _‘0.39,_.?

2
'éz “The C# or Visual Basic compiler converts
/Y\ your code into a special language named

@ MIsL (B) MMSL
(C) MSSL (D) MSIL

~

22. Inacertain code language, ‘pen pencil’ is

; . 4o 2 Pﬁ_’_!}______,_
written as , ‘eraser sharpener’ is wrilten
as "‘@#’ and ‘pencil eraser’ is written as

fw » then what is the code for ‘pen’ ?
(A) @

(B), 1
©C) # D) §

Choose the word which is least like other

' ~worgs in the group.’
) Toma'to/ «H) Ginger

\93) Carrot (D). Potato
24. ,C}s\mplclc the series.
1 - - v
31 (B) 33
(C) 27 (D) 29

25. IfAisa3x3 non singular matrix and
Al =3 then |2A)"| =
&) 5 24
1
1A, (D) None of these
© 1

-

20. iy AR Y i

21.

22,

23.

24,

5/2019 (1) (E1)
EFNR 1 Twom
gt A R x = 11 em 3, nfy v=03lx
Tt R k = 65 Nm~ 2 |

(A) 0.791] (B) 0.11)
(C)_0.66J (D) 0.39])

C# IT1 S HATUTOIT FHATEER 39 FHZ &l
T fory wimer 3 wiEfda s g

FHEATT &

(A) MISL (B) MMSL

(C) MSSL (D) MSIL

s fAfvea |fear A, ‘pen pencil® &1 ‘7 &
9 % Hahelt o for@1 ST 8, ‘eraser sharpener’
Fl ‘@# & 9 1 forar wimar g 3R ‘pencil
eraser’ @l ‘$@’ & &9 # for@n sman %, ar

‘pen’ o foTQ e yrec T R 2
(A) @ (B) ?
© # D) §
ﬁﬂf%rﬁaaﬁ%ﬁﬁﬂﬁrqsﬁm%ﬁ
a1 ¥ w0 a2 |

(A) X (B) 3=
(C) TR (D) 3re]
Taen gof v |
1,3,7,13,21,7

(A) 31 (B) 33
) 21 (D) 29

aRATH3 X3 SHU (nonssin
gular) TR
M [A]=3, 7 Ay =

1
) = B) 35
(C) _112_ (D) .8 HE T

H
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gy OR: ¢ (T
5/2019 (1) (E1) "

= =y 0.t L 1 6- : ¢ ) )
26. 1f ‘Orange’ is called ‘Butier  BICE 7 & g el o 8, A H
called ‘Soap’, ‘Soap’ is called Ink : ned R o’ TS gl Sdl 224
is called ‘Honey’ and ‘Honey IS.Ca“ d ‘yree’ A It ’mmﬁ,ﬁﬂﬁ‘f@““
“Orange’, which of the following 1§ use &S muaaq%“ S fog o ST
for washing clothes .~ ' Lk -
(A) Soap (B)/1nk (A) dEgT o ol
. (C) s . (D)
(C) Honey . (D) Butter
ich funct fein| 27, - T e A1 A
27. Which functions allow us to access a hiel Rt gl ﬁq@ #f Wﬁ zan e
a non-sequential or random mode ? \ q“?lidl ritetinésO)
) v vrins0) e e
\ | _ig)f fe:ﬁ(fa?f tzla()o i (C) seek() and tell)
" (D) read() and readline() (D) read() and readl:gc() |
’ 28. 'Who was the first Chief Minister of Haryana? | 28. gmmaaqgag@ﬁaﬁa%q& - A é\
| (4 Devilal % (A) e
: (B) Bansilal (B) =dieel
(C) Bhagwat Dayal Sharma - (C) *Wad gaTe Y
(D) Rao Virender Singh (D) Ta 5tz e
29. Sacchar formula was introduced in which | 29. Tt e T o B 3T femm T o ?
year ?
(A) 1948 (B) 1949 | LA) 149 (B) 1949
(C) 1945 y{ 1946 : (C) 1945 (D) 1946
30. Whichofthe following is/are the government | 30. gRaon # Geil  Wieared o oq HHdl a0
g:;rzs (f,) for the promotion of sports in FreEmd ¥ 7 : .
d!
(A) Provide training (A) ?;m%m
(B) Build the sports stadium (B) T R A
(C) Grant for sports institutes (C) @ TR Bl e &
\(D)/ All of the above (D) I wf

31. - Whatis the strength of judgesin Punjaband | 31. T i RN S5 =t & =i

ﬁ";}W - TEEIE?
45 JAY 38 (A) 48 (B) 38
(C). 68 (D) 58 (C) 68 (D) 58

32, Which of the dance is mainly performed on |  32. fo@me @moy # HA-A1 7 e for <l ¢
the marriage ceremony ? :

(A) TmTE
Gugga dance — S
8;)) Gar%gor puja dance”™ (B) IR o1 T
(C) hodi dance / (C) OE T
(py Dhamal dance (D) A A
| m
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| 33. ‘InPython which data type is unordered and

- mutable ? J
.(A) Mapping W) Tuples

(C) Sets (D) Sequence

34. The volume of a Parallelopiped whose
co-terminal edges are the vectors

a=2i+j-3kb=i+j+2kand ¢=i-2j+3k
s

(A) 4i c.ubic units (B) 22 cubic units

32 cubic units (D) 12 cubic units

35. Ifacurrentloop carrying a current I, with N

36.

37.

38.

tumns and area enclosed by the current is A,
then the magnetic dipole moment is given

Choose the pair of words that shows the
same relationship as given by the pair.

lels : C!to|ng x

{8Y Insects : Entomology

(B) Tiggﬁés:MOT@ggy

(C) Diseases : Physiolo

(D) Worms : Ornithology |
~———F

When was Seema Aayog formed to decide
Upon separation of Punjab and Haryana ?

‘(‘g December 1941 (B) Jgnuary 1951
) May 1975 Mtober 1965

If the dagn .. .
meth tata allribute of the cl

od attribyta”
ute are i
an same scope, then

te will be gj
(A) MO prigryy, s BV

e S

B) higher priorit
C) equaip: . gher priority
oy Priurity Q—D/ lower priority

e

33.

35.

37.

38.

B st 31w FRe o ol fo o ?
" (A) Teget 1941 (B) walt 1951

-_—

. S0 gy,
e # HH-F HAHS FHR gy 3

(A) A (B) &Uew
() ¥@ (D) frsiw
T GHHTA ISt 1 3T 41 2 g

g e foFRi o | ST a=2i + - 3k,
b=i+j+2k3MC=i-2j+3k 77

(A) Q2FFHE  (B) 227 Al
(C) 2wAFw@E (D) 12W Al

Ife e forgga w9, faga 1 NgEe |

A <man & 3R ferga g e fRm T & A R,

o gerehra fayeia i foraeh gm0 < STt @ 7
I

(A) m=NIA B) m=—"

N A

©) m=cs (D) m=

9% Y1ee I g St fiw e gm g gwi g
ey I feEm € |
FIRE : BRI &

(A) e : Frefamm

(B) e : IMHIaTH

(C) Tm : yitRfasm A

(D) i : wfdrfamm

T ST <l T el AT T, ST Wl 3¢

() = 1975 (D) Tager 1965

AR o & e ugiege ok fft W
IUE IS H 8, A SR __——
ol feu mdd)

(A) ey e (B) I ST
(©) @ safiw (D)

L
a ™
1 “ReW T e

H

Downloaded from www.cclchapter.com



P RY) _
39, Who was the first Speaker of, Haryana
Legislative Assembly ? . ..
) Shanno Devi |
(B) Manphool Singh_
(C) Kuldeep Sharma
(D) Eshwar Singh

|

40. Choose the pair of words that shows the
‘same relationship as given by the pair.

Scalp : Hair ::
é% Earth : Grass
B) Fur:Cap \

) Home: Cattle
Nail : Nailpolish '

.ere is the Haryana Public Service

~omsission located ?
"‘}X?::anchkula (B) Gurugram

(C) Sonipat (D) Panipat

42. Whichone of the following is not a database
management system ?
(A) dBASE

(C) PostgreSQL

) FoxPro
(D) SAK

43. Lala Lajpat Rai actively participated in the

Swadeshi anc_.‘.olan from which district ?
) Hisar =~

(B) Sonipat
(C) Rohtak (D) Panipat

44. On which of the following subject both
Union and State Governmen can make
laws ?

9{( Concurrent list subject

t~(B) Residuary subject
(C) Union list subject
(D) State list subject

39.

40,

41.

42.

43.

(L LIE BT RULEY L LR T BT L LR L L ||,1w

e fSreT o = e et <R o ?
(A) STt

(B) wige fi
(C) e I
(D) s faw -

78 Trea I g s e e g g i
ae il feam € |

R fiae 9 ::

(A) Al : g™

(B) W : e

(C) & : Y

(D) TG : TG e

whemon < Qe 3T wel fRa R ?

(A) TEFHAT (B) TEIH

(C) Triua (D) aHiTa
fafafas & @ SF-81 T SeEE Yo
qUTA AE & ¢
(A) dBASE

(C) PostgreSQL

(B) FoxPro
(D) SAK -

)
ATell @eivd T < eyt AicieH 4 g fs
J i s 8w o en ?

(A) fam (B) rtud
(C) Tgas (D) uriga

frafafas # @ e fowa w g e T
TOHR ST HT 1 T © 7

(A) o e forwa

(B) rafmefawd.. ...

(©) ¥ geh frea

(D) mqa"r%w
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" 46. 1n 1984, which of the following is Haryana’s

{ I
545,

Which of the following space agencies
involved in BepiColombo mission, an
unmanned spacecraft carrying a two probes
into orbit of Mercury ? ;
(A) ISROand NASA

(B) European and Japan space agencies
(C) NASA and European space agencies
\(575 None of the above

most famous film whose song is most
popular ? '
(A) Lado

(C) Dhan Paraya

) Chandrawal
(D) Lambardar

47. Becj Bachao Andolan (save the seed) was
initially started in
(A) -West Bengal
(B) Uttarakhand U

(C) Bihar
() Madhya Pradesh ] \

48. In Narnaul area which State is bordered

~ —three sides ?
g ‘} o
njab
adhya Pradesh

) Rajasthan
(D) Uttar Pradesh

49. 1fc.means + B means —
y , Y means X,
0 means +then306 10y 5 o 10 B 20 is
5 (B) 15
C) 3
(©) D) 10
A non empty subset i
50. A beang r° Hofg'groy G, *) is
(») HEG :
( B) Commutative .5

hold in H N¢-associatiye laws
H < Gand (H t),
] S a .
_)(?)/ None of these ‘.gm“P '

PR
"33;-\0'155 >\0 "
ars | \or \0

45,

46.

47.

48.

49.

50.

A

. 5120 \kLV
afﬁ e e i ﬁqﬁf@-ﬂ?é{]‘;(:h) ¥
Siifeer TSTEl TR R, O e g |
maﬁé\@“ﬁﬁ@ﬁmﬁm‘;ﬁn
(A) ISRO 3 NASA 3
(B) T IS ST v
(C) NASA 3T TN Siafes wifems
(D) I H & IR T

1984 & gRET # THE AR frey
e o 4 FA-H o, R

Tafa e ? .
(B) T=Ed

(D) T=ER

%ﬂa«%ﬁ%iﬂaaﬁtmmﬁ?ﬂwﬁmﬁ
? .

(A) =TT

(B) W& W

(C) TS

(D) IW I *

e o o1 31 +, P13 —, y 1 37 x, OFH
I +@M30010y50 10202
(A) 5 (B) 15
() Aoy (D) 10

T W (G, *) 1 e STge=d H 3,
ITHIR el S 8, Al

(A) HcG

(B) fafii sl a=d R & &

© HCG@T(H,*}@EW%

(D) ¥ & i e
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S1. Study the diagram given beloW to answer

;
¥

H

TP

A

54. The district

(D) Panipat
55. The value of A for which the hoﬁogcncous
system Ax+y+2=0,-x4

the following qucstion;o.

s ‘ L

o "'!ﬂ N
¢ /6 |a o\ oﬁ“’:,w

|

The triangle in the above figure depicts
women in villages, the square depicts the
unemployed women and the circle depicts
the educated women.

Educated employed women in villages are
represented by s

(A) F ) G
©) D ) E
~ 52. In which year Punjab high court shifted to
Chandigarh ? L1 :
1957 (B) 1958
- (C) 1955 (D) 1956

.Which one of the following is true with

regard to Mahayana cult of Buddhism ?

(A) They refer as greater vehicle

(B) Worship of Buddha’s image was an
important tradition of this cult

(&) Original followers'were called lower
7 L < !

/\9)‘ -All the above

in which should have highest
number of gram sabhas 7
(A) Hisar (B Gurugram

(C) Karnal

y+z=0,

—x-=y+ 2. = 0 has.non-trivia itlon iz
B0
c(A) 3 D) -3

©) 3

LT

51, frefcies v =1 3w 33 & Reo i
TG 1 T Fit |

|

IR ATHia & Feprr it § wfgenad F
<iian @ |t ST Afeenatt i awt i
afr g frféra wfeened <t qwia @ |
Titat 3 frferd et nfend SR-a1 e
il & ?
(A) F
(C) D

(B) G
(D) E

52, T ad i etreh I e =G H TR

? :
(%1 1957 (B) 1958
(C) 1955 (D) 1956

53.” dirg ol 3 e vy 3 gay § Pl

AFA-WEAR 7

(A) ¥ e TTE FI Hahid F € /

(B) T ot ofer <t e 39 99 hi T Hew]
T ot -

(C) e STt ol = aTe el Siiel ¢

(D) 3 o+l

54, T oy o o ) e -

=g ?
(A) feEr (B) ToI™
(C) FEA (D) UHId

55. xmﬁwﬁmﬁrﬂ%%qmm

xx+y+2=0.—x+ky+z=(
—~X—y+A=03TDEAAR?
(A) 3 (B) 0
©) +J/3 (D) -3

A ET Bt W
?©o>—“‘3 r-/fll.,-“fk"ai’:h;

< ' -
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Sg. In database, a relation means a
(A) Tuple \93{’ Table

(C) Domain (D) Key
x 3 7
57. Ifx=-9isarootof {2 x 2|=0,then
7 6 x|
the other two roots are
(A) 2,7+ B) -2,~7
of -2 © 2-7 (D
58. EDTAIis Tigand.
(A) ,Hexadentate Uj
Tetradentate }S‘Su/\) p@P 0
(C) Monodentate P @T“

(D) Bidentate @ @

59. Inacode Ianguagc SOLID is written as'| -

WPSLPIMFHA. What does the codc‘wofrd
A IBVO refer to ? (t

(A) EAGER (B) WAFER

(D) WAGER
w A
Which of the following plants is estabhshcd

Lin Panipat ?
) 011 refinery
(C) Sugar

WATER

(B) Fertilizer
(D) Cement

61. Intersection of 2 subgroups of a group.
(G, *)is N
(A) asubgroup of G
(%) group but not a subgroup of G
(C) nota subgroup of G i
(D) none of these "

who wrote the book Amuktamalyada ?

62 mudragupta
% lakeshi ,LN :DE F\ M
ishnadevaraya

© ) Chandragupta
Y p)

56. S #, O way wséz,f'm () &y
(A) =y B
(C) =i : ED; iff
x 3 ';
57. AR |2 x 2|=0 T x=_o3
|7 6 x '
AR AR
(A) 2,7 (B) -2;=7
OFE2'7" (D) 2,-7 ¢
58. EDTA e | l(’l‘ <Y
(A) RFOIGE Q ’{; 3;
(B) =g: ad%h
(€) TEgF \ 'ﬁ’/r
(D) FTF N A o{Q
59. Th fifvaa wfear &, SOLID ¥eg 1
‘~ WPSLPIMFHA%mﬁaawnw%m
a7} | SEft FehelteRtor w1 9o R T
ATEXXQIBVOR FT Y &AM 2 -
(A) EAGER (B) WAFER,
(C) WATER (D) WAGER

60. T ¥ e § FET HrEEE TR ?
(A) T YR (B) I
© i (D) fade

61. THEE (G, *)%2mrg€immam%?
(A) G %1398z
(B) Hﬁ'@‘fﬁn‘-{(}ﬂ?r:ﬂ‘qr@qﬁf%
(C) G =1 398E =di 8
(D) T A #YE e

62. TTRIICA THaeh R Rrat 2 7

(A) agzq<
(B) Yerahyft
(C) FoRawa
(D) W&

S 30 W sag 3 ooy o3 282
}ﬂq@CQFFG\HI_\rK L PN °V‘9"QS@
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I x+9, x -6, 4 are first three elements of

q.

GP then x is
(A)@.o \9)/16. -16
(C) 0,16 D) -16/0)

64. Whichis the correct reason for the outbreak
for the situation of cold war ?

\}H/ Invasion on Pearl Harbour by Japan
Emergence of USA and USSR asrival

powers
3 (C) Defeat of gxis force in thi_fl_!’__’_‘wﬂd
” War Yy
\~ : ]
ol ,(D) Bombinyﬂ-liroshima and Nagasaki
¥ by USA/. =t 9
\ ,‘ -%
65. If x -2, x, x + 3 are first three elements of
GP then x is, -3 -b
, a4 %W - ®) 6
(C 6 (D) 0 -

(r@ Haryana’s historic grand tomb is located
in which district, which is associated with

Shekh Chilli ?
Kurukshetra (B) Hansi
(C) Nunh * (D) Palwal

7. Who js the present CEO of PepsiCo ?
Mﬂm Nooyi
B) Ramon Laguarta

(C) Shantanu Narayen
(D) None of the above

68. By which Amendment to the Constitution the
right to property was removed from the list
of Fundamental Rights ?

(A) 72 (B) 74"

)

44° . (D) 46"

1
N

i

/U

SR LA |
OO A AR

63. AR x+9,x—6, 4 oI Avft & o o7 7

TdAx?
(A) 0,0
(C) 0,16

(B) 16,-16
(D) -16,0

64. it g 1 Ut & wehig b HEt HRT
HH-TE 7
(A) S ERT Tl BTelt OF ST
"« (B) gﬁﬁwﬁﬁ%mﬁaﬂﬁmaﬂt
Hifqad g9 &1 IR
', (C) Tat fova gg d 3787 5/ Al ¥R
(D) e g fedifim S T @

) .
I

aqanﬂ
365 M x - 2xx+3mma€m?ﬁ?ﬁ
gdarxd
)3 (A) -6 ®B); /6 -
| (C) 6 (D) 0 .~ -

66. zﬁamwiﬁmﬁmmwﬁwﬁww
?, o wera S g 4% 7

)
-

(A) Fo&d (B) it '
©€) T8 (D) vYead
67. fEH (PepsiCo) F Fdum CEO 747 & 7
(A)
(B) = amref
(C) riag +A
(D) 3TEd § 4 1S 7
68. wferer H form Sene T Huft & st
| it st = & wer Ry m o 7
(A) 7239 B) 74§
(©) 447 (D) 463
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69." Who won the women's single tennis titleat 69. 2019 faere SR i “ﬁm@%(gg
© the 2019 Wimbledon Championships ? Aeqerrr Fope T 7
N"K Petra Kvitova (A) S ARCE LI
(B) Vinus williams (B) =y T
: (C) Serena williams ) atn fafea=
(D) Simona Halep : (D). Ft &t
Ii .
' 70, Langmuir isotherms holds at low pressure 70. ﬁwmﬁﬂmmq{ A R S
but fails 2 ) __——qj_ﬁmlgm% |
(ir\) Low temperature (A) HH ATIHM
(B) Intermediate pressure | (B) Hegadi a1
(C) High pressure L ' : (C) J=a <
~(D) None of these”" g . (D) FHABRT
' 71. Chaudhary Devilal Herbal Park is situated 71. aﬁaﬁ%a%araga‘aqﬁmﬁéﬁ@ﬂ% ?
in the distﬁ%::t'of 0 '
(A) Mewat (B) Panipat (A) Ha (B) WHId
©) Rewari \(96 "Yamunanagar (C) @t (D) TGAAT
72. Name of the lake which is; famous for| 72. = ® f@m gz & fore ufag it o &
tourism in Kamal. e
(A) Sultanpurlake (B) Taliyarlake (A) msﬁa (B) R e
(C) Barkhal lake Mama lake (C) ¥sEd Hia (D) =i gt
73. Compl ; ” .
zmpgct h & C e 73. @ @ ﬁﬁﬂf.l
19,3,26,30,33, 2. {6: 23,98, 30.93.9
£) 31 (D) 35
. : St D) 35.
74. If eachof lgglg:ltcrs in the English alphabet | 74, - N s ~
is assig@lﬂgﬁcal value beginning i Tas W & m‘{fa; bl A=1, B=3
A=]1B=3a8 ill be the total fea TR, 7162 INDIAN Gwmc L IC|
value of thele of the word INDIAN 7 FEW? e <l el oA
(A) 89 2075 ((’; 32 (B) 96 -
88 8 D
() 86 (D) (D) 88.
13- H
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19 (1) (k1) .
English Language

hoose the correct indirect form of the
ollowing sentence from the given options :

1S, He said to me “What are you reading” ?
(A) He asked me what I am reading
(B) He asked me what I was reading
(C) He said that what am I reading
@/ He said that what was I reading

Choose the part of the following sentence
which has an error :

76. Neither of the/two men were very strong.
\W Neither of the two
(B) Of the two men were
(C) Of the two men
(D) Noerror

Select one word substitute for the following :

77. ‘Gain or profit over and above one’s salary

or wages’.
(A) investment ‘_M surplus
(D) turnover

(C) perquisite
Select the synonym of the word in capital :
78. ZEAL

(A) brave

(C) increase

(B) soft

ép/ enthusiasm

Fill in the blanks with suitable preposition :
79. He was here

last week.
(A) on (B) at
©) in not needed
Fill in the blanks with appropriate word from
the options :
80. We by a loud noise duri ng last
night.

were wokenup (B) were waking up
( wogcc up (D) are woken up
81. Mr. Miller doesn’t like

O A
o= wran

83. WM R__ S HTEMEAIE
(A) wga=d :
(B) UHd=H IR Fga=d M H

C), Tehddd
of T

84. ‘areie ¥ <y fumn @’ g% 9w

e o ToTT ST 2 0

A) HEE= (B) :?'a‘

\Ey)/aafaﬁa IR T
85. TH:+W =

(A) T M‘Fﬁw

(C) w™ (D) HF
86. g forflay |

(F) wFaw (31) T & =

(@) fﬁﬁn‘M‘(aﬂn) 7 1 o=

(M) wBI- (3) weft =1 5=
() Tt %) Faft s
(s) =@ (8) = s
&) @) M (@) ()
(A) #\3a I a §

(B) 3 \H _wr 3 é}
M oJ 3 3 3
®3 = 3 § g
87. ‘nyod’ v e} Y
(A) it v ot Sar ) ’
(©) ST BT (g &
dﬁfﬁﬁmaa%%?%gana‘r
88. WU @ ¥’ 7w ry

%?&%I S

waiting.
(A) kept (B) , is kept
(C) keep \g)( being kept
2. You can’t stop me what I want.
to do (B) thatldo
(C) doing (D) do
{ -14-
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